

Quick Recap

Complex rector spaces one rector spaces but wish complex scalars.

All the results from Ch I and 2 on the same for complex vector Spaces.

But complex inner products one slightly different.

- · (cu+ du, w) = (<u, w) + d <v, w)
- . く U, C V+ dw> = こくU,V>+ d <u,w> メーンタ

· (\(\alpha\) \(\lambda\) \(\l

(0,0):0.

If (v,v) had an imaginary

Componed, then we would

Ex $C^{\circ}[-\pi_{1}\pi]/C$ Scalar = C complex V.S.

Define $([-\pi, \pi] = \{ f : [-\pi, \pi] \rightarrow C \}$ f(x) = u(x) + iv(x)Is the form of these functions

fr(x) ε (°[-π,π]

This Us has inn product

(Think (v, w) - VTW)

 $(f,g) = \int_{-\pi}^{\pi} f(x) g(x) dx$

$$a: e^{i l x} = (\omega_1(l x) + i)$$

$$= (\omega_1(l x) - i \sin(l x))$$

$$= \omega_3(lx) - isio($$

$$= \omega_3(-lx) + isin(-lx)$$

$$= \omega_3(-lx) + isi$$

$$= e^{-ilx}$$

$$= \omega_3(-lx) + \frac{1}{3}$$

$$= e^{-ilx}$$

$$= \omega_3(-lx) + is$$

, xtiy flip acnos 2-iy = xiy eio **- Ө** = eio

$$=\int_{-\pi}^{\pi} e^{i(k-2)} \times dx$$

$$= \int_{-\pi}^{\pi} e^{i(k-2)} \times dx$$

$$= \int_{-\pi}^{\pi} e^{i(k-2)x} dx$$

(ax1: k=1

$$= \int_{-\pi}^{\pi} e^{i(k-2)} \times dx$$

 $= \int_{-\pi}^{\pi} e^{i(0)x} dx = \int_{-\pi}^{\pi} 1 dx = 2\pi$ $\|e^{ikx}\|^{2} = \int_{-\pi}^{\pi} e^{ikx} e^{ikx} dx = 2\pi$

7	I'' eikx -ilx dx	
	. **	

$$\begin{array}{lll}
\text{Cak 2} : & k \neq l \\
&= \int_{-\pi}^{\pi} e^{i(k-\ell)x} dx & u = i(k-\ell)x \\
&= \left(\frac{e^{i(k-\ell)x}}{i(k-\ell)}\right)^{\pi} & \star \\
&= \left(\frac{e^{i(k-\ell)x}}{i(k-\ell)}\right)^{\pi} & \star \\
&= \left(\frac{1}{i(k-\ell)}\right)^{\pi} & \star \\
&= \left(\frac{1}{i(k-\ell)}\right)^{\pi} + isin((k-\ell)x) \\
&= i(k-\ell)\left(\frac{i(k-\ell)\pi}{i(k-\ell)\pi}\right) + isin((k-\ell)\pi) \\
&= cu(-(k-\ell)\pi) - in(-(k-\ell)\pi)\right)
\end{array}$$
Since $k-\ell \in \mathbb{Z}$

$$(k-\ell)\pi \quad \text{and} \quad (k-\ell)(-\pi) \quad \text{ore}$$

$$\text{for some angle}$$

(h-l) 1 and (h-l)(-1) same ongle (Kel is an -TT, TT Sam same angle -25 , 25

$$-2\pi \cdot 2\pi \quad \text{same and } \quad \text{insegu}$$

$$\frac{1}{i(k-2)} \left(e^{i(k-2)\pi} - e^{i(k-2)(-\pi)} \right)$$

$$i(k-2) \left(e^{i(k-2)\pi} - e^{i(k-2)(-\pi)} \right)$$

And so eikx and eilx one orthogral complex functions when k \$ l.

Ormograd Bases

J 4.1

(ei,ei) = 0 fran i = j. eikx (k = Z) one mutually Ex Orthogored in Co[-11/11]/C

(eikx, eilx) = o for (hxl)

Def let {v₁, -- ~_n} c V, an inn product space. We say that {v, --vn} fun on

armogonal basis if thy One a basis and mutually orthogonal.

Ex {e,,.., en} form on orthogral basis of IR? Non Ex (0) (1) from a basis of 122 v/dot padent. it!s not a arthograel basis. But if < (v, v2), (w, w2)) = 1111 - 1112 - 1241 + 41245 < (1,0), (1,1)> = 1.1 - 1.1-0.1+

an orthogral besis or IR2 of this weighted (now product Det we say a basis {u,,...,u,} of 1 10 ormonormal if it is orthograph and 1/ Will = 1. Ex Any orthograed basis can be trued into an orthonormal basis { ~1, ..., ~ ..., " ~ ..., " ~ ..., " ~ ..., " ~ ..., " ~ ..., " ~ ..., " ~ ..., " ~ ..., " ~ ..., " ~ ..., " ~ ..., ~ .. {e,,.., e,} are an orthonormel basis of IR" of dat product

Pero let {u,,..., un} be an orthonormal basis of an inno product space V. (/R) Then YUEV 1 = <v, u, > u, + ---+ (v, u, > uh and $||v||^2 = \sum_{i=1}^{n} \langle v_i u_i \rangle^2$ Looks lie the word det product norm formula. Pf Sna {u,,..,u,} is a basis, then V= Gu, + ... + Crun. We need to show that $C_i = \zeta v_i u_i >$.

4i. just whis compute this

$$\frac{\langle v, u_i \rangle}{= \langle \sum_{j=1}^{n} c_j u_j, u_i \rangle}$$

$$= \sum_{j=1}^{n} c_j \langle u_j, u_i \rangle$$

j≠i, then (uj, ui)=0

(Si Linearty)

 $\langle u; , u; \rangle = 1.$ j=i, then

Since Ui is a rector

ci < ui , ui > = ci S. v = 2 (v, v.) v.

$$||v||^{2} = \langle v, v \rangle$$

$$= \langle \sum_{i} c_{i}u_{i}, \sum_{i} c_{i}u_{i} \rangle$$
Here $||J/||_{i}$

$$||u_{i}||_{i}$$

$$||u_{i}||_{i}$$

$$||u_{i}||_{i}$$

$$||u_{i}||_{i}$$

$$||u_{i}||_{i}$$

$$||u_{i}||_{i}$$

$$= \sum_{i,j=1}^{n} C_{i} C_{j} \langle u_{i}, u_{j} \rangle$$

$$= \sum_{i,j=1}^{n} \langle u_{i}, u_{i} \rangle = 0 \quad \text{when} \quad i \neq j$$

$$= \sum_{i=k=1}^{n} C_{i}^{2} \langle u_{i}, u_{i} \rangle$$

$$= \sum_{i=1}^{n} \langle v_{i}, u_{i} \rangle^{2}$$

$$= \sum_{i=1}^{n} \langle v_{i}, u_{i} \rangle^{2}$$